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(a) “Marketing is no more a function of marketing
department only.” Explain the statement and also discuss

the nature and importance of marketing. (8)

(b) “To be successful a marketer needs to judiciously mix
all the elements of marketing?” Briefly explain those

elements giving examples. @)
OR
(a) Explain the evolution of marketing concepts. (8)

(b) Why is it necessary to understand marketing
environment? Explain the demographic and economic
environmental factors that affect the marketing
decisions. (7)
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2. (a) Explain the various stages in consumer buying process.
Do consumers need to pass through all stages while

buying all the products? Give reasons in support of your
answer. (8)

(b) What is meant by product positioning? Briefly discuss
the major bases of positioning a product. (7)

OR

(a) What is market segmentation? Suggest and explain
suitable bases to segment market for the following
products. (8)

(i) Car
(ii) Cosmetics

(b) Explain the cultural and social factors affecting
consumer buying behaviour. (7)
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(a) Explain Product Life Cycle (PLC) with the help of
diagram. What strategies will a marketer use in the
maturity stage of PLC of a product? ‘ (8)

(b) Explain the following :

(i) Psychological Pricing

(ii) Discounts and Rebates (7)
OR

(a) Explain the difference between individual branding and
umbrella branding giving examples. Discuss their
advantages and disadvantages. (8)

b) Differentiate between skimming-the-cream and
=

penetration pricing. In which situations these are most

suitable? (7
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(a) Explain the communication process used in the promotion

of goods and services. (8)

(b) Briefly explain the various elements of distribution
logistics. (7

OR

(a) Discuss the major types of non-store based retailing in
India giving examples. (8)

(b) Briefly explain the various promotional tools used by
the modern day marketer. (7)
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Write short notes on any three of the following :
(i) Direct Marketing
(i) Green Marketing
(iii) Push and Pull strategies of Promotion
(iv) Functions of packaging and labelling (5,3,5)
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1. (a) Explain the traditional methods of evaluating long term
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(b) A company is planning to replace a machine which is

required for 4 more years. Its book value is Rs
1,60,000 and it will be fully depreciated at the end of
2 years. It will generate revenue of Rs 5,20,000 per
year for 4 years and incur expenses of Rs. 3,80,000
per year. Its salvage value now is Rs 1,20,000 which
will become zero after 4 years. It can be replaced by
a machine costing Rs 4,80,000. The new machine is
expected to generate revenue of Rs 9,20,000 per year
and incur annual expenses of Rs 5,80,000. Additional
working capital of Rs 2,00,000 will be required if new
machine is bought. Depreciation on new machine will
be charged at the rate of Rs 80,000 per year to make
its book value equal to its expected salvage value of
Rs 1,60,000 at the end of the fourth year. Tax rate for

_ the company is 30% and cost of capital is 15%. Advise

the company about the replacement.
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after the end of its life of 5 years. Additional working
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capital required will be Rs 50,000. Overhead cost
allocated to the new product wil]‘ be Rs. 24,000 per
year. Tax rate is 30% and cost of capital for the
company is 15%. The company charges depreciation

at 25% of the written down value. Should the company

buy the new machine?

TF HUA T ¢ SHIE & 9T & F&d W ER &
o MRt 9o & sy &Y o amew & o) W & | HIA B 3] TY IATE D 1,00,000 JFAE e e
aﬁwaaa%aﬂviﬁﬁaﬁww%%laﬁmﬁaﬁ T & AT & AR zH fasea P 5 Fo wfy gfae

i & aR F wmsf dfn 11 % | 9Radt @ 2 o wfa gfe &rft | SART & &R
W & T <d §¢ YT Bl 50,000 o Ui a9 Jahs
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(a) Certainty equivalent approach is theoretically superior , T @ e S, A g aRdrsT & o ferr s
to the Risk adjusuted discount rate. Do you agree? T | IS G FH AN B BT 5,00,000 Fo BN
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Regardless of the level of production, the cl:)omparlt; % ﬁp{ gl o S ml;?
will incur cash cost of Rs. 50,000 per year if project is e
undertaken. The machine for making of the product 2. (a) Retained earnings are free of cost. Do you agree?
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-(b) Following is the capital structure of XYZ Ltd.:
Equity share capital
(face value Rs. 10 each) Rs. 15,00,000
8% Debentures (face value Rs 100) Rs. 4,00,000
12% Preference shares (face value Rs. 100) Rs. 4,00,000
10% Term loan Rs. 7,00,000
Rs. 30,00,000
‘The compaﬁy paid a dividend of Rs. 3 per share last
year. The dividends are expected to grow at 5% per
annum. Tax rate applicable to the company is 30%.
All securities are traded in the capital market and the
recent market prices are:
Equity Shares L
Debentures Rs. 80
~ Preference Shares  Rs. 100
Find out the weighted average cost of capital using
book value weights and market value weights.
XYZ fqifies &1 Gotira |eam ettt &
Eele)
Sferrdl g Ooi (sifeT 7w 10 o 9fd)  15,00,000
8% fes=ar (sifka 9= 100 ®o ufw) 4,00,000
12% 3ifeP grer (Sifehd T 100 Fo 9fd) 4,00,000
10% HATArE o7 : 7,00,000

30,00,000
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 Or (mmm) ‘
(a) Profit maximisation is a better criterion than wealth
maximisation. Do you agree? Explain.
T SRR, O ST & YeR iy
€| T A wewd €2 arem A 4
(b) A company earns a profit of Rs. 3,00,000 per annum
after meeting its interest liability of Rs. 1,20,000 on 12%
debentul_'es. The tax rate is 30%. The number of equity
shares of Rs. 10 each is 80,000 and retained earnings
amount to Rs. 12,00,000. The company proposés to take
up an expansion scheme for which a sum of Rs. 4,00,000
is required. It is anticipated that after expénsion, the
- company will be able to achieve the same return on
investment as at present. The funds required for expansion

can be raised either through debt at the rate of 12% or by

issuing equity shares at par. You are required to:
6



(i) Compute the earning per share, if:
'* the additional funds were raised as debt
* the additional funds were raised by issue of eciuity

. Shares

(ii) Advise the COmpany as to which source of finance

is preferable.
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3.

(a) Explain the relevance of time value of mofiey in

financial decision making.
frcita fifa o & 7e1 @ |wa uw @ aefEar @
=TT BT | i

(b) Two companies X and Y belong to the same risk

7767

class. They have everything in common except that
firm Y has 12.5% debentures of Rs. 12,00,000. Follo-

wing information about the two firms is available to

you:
Particulars X ¥
Net operating income  Rs. 3,00,000 Rs. 3,00,000
12.5% Debentures - ‘Rs. 12,00,000
Equity Capitalization
Rate T £ 06

Calculate the value of two firms and explain how under
Modigliani-Miller approach an investor who owns 10%
equity shares of the overvalued firm will be better off
switching his holding to the other firm. Also explain
when arbitrage process ‘will come to an end.
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farawor X Y
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Or (amr)
(a) Discuss the main decisions whi_ch are taken in financial
managenicnt.
fdit wse & fom o @ qer Rk @ e
) 4
(b) The capital structure of Greaves Ltd consists of the
following:
Equity shares of Rs 10 each ) Rs. 40,00,000
10% Hefaence shares of Rs 100 each  Rs. 30,00,000
12% Secured Debentures of Rs 100 each Rs. 20,00,000
The net sales for the company were Rs 1.6 Crores. EBIT
is estimated to be iO% of sales. Corporate tax rate is
40%. Fixed cost is estimated to be Rs 50,00,000.

7767 9 P. T‘ O.
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(i) Draw the Income Statement of Greaves Ltd.
(il) Calculate the operating and financial leverages.
(i) What will be the % change in EPS if ERyT rises by
10%? What will be the new EPS?
st fofee o OSf HemmT § F=fofes afte 2
S 99 10 B0 T 40,00,000 Fo
10% M 99’ 100 o amy 30,00,000 %o
12% gU&a 3= 100 B0 g 20,00,000 Fo
Mﬁﬁaﬁﬁaﬁmmaﬁéﬁﬁanmz
=t @1 109 BT W A w40 R | e
ST 50,00,000 o Y ¥
. d=7 ffes &1 amg ey TR Fift |
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(a) Explain the Baumol’s mode] of cash management.
UFT 999 & st wteq o & Hifvm | 4

(b) A tompany has an annual sale of Rs. 10 lakhs and
average collection period is 45 days. The company is
considering shift in its credit policy. Following
information is available:
Variable cost is 60% of sales. Fixed cost is R, 2 lakhs
per annum. Current bad debts are ]9, Required retur

on investment is 20%:.
10
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Or (3raam)

(a) Discuss various sources of working capital finance.

wﬁsﬁa%ﬁﬁa%ﬁfﬁwmﬁaﬁﬁaﬁmﬂﬁﬁqm

The following are the estimates of different credit

policies:
Crediz‘ : Average Increase in de (b) From the following information calculate:
policy  Collection Period Sales debis (i) The Operating ‘cycle in days. Assume 360 days in a

A 60 days Rs 50,000 2% year.

B 75 days Rs 80,000 3% (ii) The amount of working capital required.

G 85 days Rs 1,00,000 49 ' Annual consumption of raw material Rs. 15,00,000
Determine which credit policy the company should - Total purchases Rs. 16,00,000
adopt. Total cost of production Rs. 25,00,000
U U B s fE 10 e & SR s wue Total cost of goods sold ~ Rs. 28,00,000
ST 45 R &) Fyy T Bt Hify F AT Total cost of sales Rs. 30,00,000 | s
HH W AR a7 E F=fafag I Iywey Total sales Rs. 36,00,000
& Average stock
aReft AT R @ 60% ¥ 1 T g o @ o Raw material S Rs. 2,50,000
gfgay & A, SleT ®w o195 ¥ ;EI?IET-‘R‘ qifesa Work in progress Rs. 1,50,000
TET 20% %1 faftrsy wize gty & ST Finished goods Rs. 3,50,000
Frfafag & ' Average Debtors Rs. 3,50,000
= T HE e § asiey Average Creditors Rs. 2,50,000
e swafr . s Frefefed qeemeit & afaem

A 60 fasr 50,000 %o 2% ) FETT 96 i F )19 F 360 R arF
B 75 fesr 80,000 ®o 3% (i) Frshier §ft @ smavas afy
C 85 feq 1,00,000 o  4q ‘ F= AT B AiE @y _ 15,00,000 ¥o
FE B By R @ oy =ifen, fFroffig HA T 16,00,000 Fo
HIfoT | 11 7767 12 7767
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5. (a) Explain the Gordon’s Model of relevance of dividend.
mrﬁm%v‘ﬁqmﬁmﬂm| 4

(b) Ashley International started a year ago with an equity
capital of Rs 20,00,000. Other relevant details are given

below:
f Number of outstanding shares 20,000
| Earnings of the company Rs. 2,00,000
Dividend paid Rs. 1,50,000
P/E ratio 12,5

(1) What is the dividend payout ratio of the company?
What is the market price of the share at this payout
ratio? Is the dividend payout ratio optimal according
to Walter’s mode]?

1767 13 PT.O.

(if) What is the P/E ratio at which dividend payout ratio
will have no effect on value of share?

(iii) What will be your decision if P/E ratio is 87

QI SV ¥ & AT vl 20,00,000 o F rad

Iolt & g &) o I W AHEIA A & o @y

g—

HET T G 20,000
HHEN P ST 2,00,000 So
o THISr 1,50,000 To
P/E 39T ' 12.5

(i) mwmmrﬁmmgmm%?wﬁm
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F AW & T W P 9T 78 By
(iii) stmoeeT Frofy ar &mmr af prg AT 8 B2 11
Or (m)
(a) What is stock dividend? What is its rationale?
I W ST 87 S awlew o 2 4
(b) A company has a capital of Rs. 100 lakhs with shares
of Rs. 100 each. The shares are currently quoted at par
in the market. The company is planning to declare a

dividend of Rs. 6 per share at the end of current financial

7767 14
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year which has just started. The rate of capitalization

fér the risk class to which the company belongs is 10%.

Using the MM rApproach. answer the following:

(i) Calculate the price of the share at the end of year if:
(1) Dividend is declared.

(2) Dividend is not declared.

(ii) Calculate the number of shares to be issued
assuming the company pays dividend, has net
income of Rs. 10 lakhs and makes new investment
of Rs. 20 lakhs during the year.

(iii) Find out the value of the firm if:

(1) Dividend is declared.
_(2) Dividend is not declared.
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